GEN NO

3.

5.

7.

QUALITY ASSURED BY A NATIONALLY ACCREDITED CERTIFICATION/QA ENTITY & SHALL
BE LABELED IN ACCORDANCE WITH CERTIFICATION/QA ENTITIES SPECIFICATIONS.
PRODUCT ASSEMBLY IS NOT PART OF THIS DRAWING AND SHALL BE IN ACCORDANCE
WITH THE MANUFACTURER'S QUALITY ASSURANCE SPECIFICATIONS & TESTING REPORTS.
6. CERTIFICATION OF THESE PRODUCT INSTALLATIONS SHALL BE CONSIDERED VOID IF
ANY OF THE FOLLOWING APPLY: 1) THEY ARE INSTALLED WITHOUT A BUILDING PERMIT
FROM THE APPLICABLE LOCAL BUILDING DEPARTMENT.
ANYONE OTHER THAN A LICENSED CONTRACTOR EXPERIENCED WITH WINDOW/DOOR
INSTALLATIONS.  3) IF CHANGES HAVE OCCURRED TO THE PRODUCT'S CERTIFICATION
ENTITY'S CERTIFICATE THAT CAUSE THESE INSTALLATIONS TO BE INCORRECT OR
INCONSISTENT WITH WHAT HAS BEEN TESTED. ’

THE LEAST DESIGN PRESSURE SPECIFIED EITHER IN THIS DRAWING OR IN THE
PRODUCTS CERTIFICATION SHALL CONTROL FOR THE INSTALLED PRODUCT.

8. THESE DRAWINGS CERTIFY THE PRODUCT INSTALLATION ONLY. WATER PROOFING OF

2) IF THEY ARE INSTALLED BY

1. ALL FASTENERS SHALL BE IN ACCORDANCE WITH THESE DRAWINGS. SPECIFIED
ANCHOR EMBED TO BASE MATERIAL SHALL BE BEYOND WALL FINISH OR STUCCO.
2. OPENINGS, BUCKING & BUCKING FASTENERS MUST BE PROPERLY DESIGNED &
INSTALLED TO TRANSFER WIND LOADS TO THE STRUCTURE.

THESE IMPACT RATED PRODUCT INSTALLATIONS ARE IN ACCORDANCE WITH AND
MEET THE REQUIREMENTS OF THE 2018 INTERNATIONAL BUILDING CODE (IBC).

4, ALL ANCHORS SECURING PRODUCT FRAME TO PRESSURE TREATED BUCKS OR
WOOD FRAMING SHALL BE CAPABLE OF RESISTING CORROSION CAUSED BY THE
PRESSURE TREATING CHEMICALS IN THE WOOD.

TO THE BEST OF OUR KNOWLEDGE, THE PRODUCT SHOWN HEREIN IS CERTIFIED &

HINGE REQUIREMENTS

MAX. FRAME | QUANTITY

HEIGHT  |PER PANEL
119.57 6
107.875" 5
99.375” 4
83.875" 3

INSTALLATION EVALUATION IS BASED ON APPLICABLE ANCHOR STANDARDS

AND/OR INFORMATION & RESULTS FROM APPLICABLE TEST REPORTS.

THE

BUILDING CODE VERSION CONSIDERED WITH THE EVALUATION WAS THAT IN

FORCE AT THE TIME OF THE EVALUATION.

IN THE EVENT OF CODE

VERSION CHANGES/UPDATES OR IN THE EVENT THAT NEW OR ADDITIONAL

TESTING IS COMPLETED ON THE REFERENCED PRODUCT, PRIOR TO STATING

CODE COMPLIANCE, THE MANUFACTURER SHALL CONFIRM WITH THE °
INSTALLATION EVALUATION ENGINEER OF RECORD THAT THE INSTALLATIONS
SPECIFIED HERE—IN ARE CURRENT WITH THE THEN CURRENT TESTING,
CODE AND APPLICABLE STANDARDS.

THESE DRAWINGS ARE APPLICABLE ONLY TO THE PRODUCT|[ORAWN BY:

ANCHOR/SUBSTRATE EVALUATION NOTE:
ALL ANCHORS IN THEIR SPECIFIED SUBSTRATES HAVE BEEN

HEAD TAPCONS OR HILTI KWIK-CON H
(2) CMU IS APPLICABLE AT SIDES ONLY.

(HARDENED STEEL OR S.S.).

(3) 2X6 BUCKS MAY BE RIPPED DOWN TO MIN. 4 1/4" DEPTH EXCEPT WHEN THE

(1) CONCRETE SCREWS SHALL BE ELCO ULTRACONS, ELCO CRETE-FLEX, ITW RAMSET/RED

TO 20 DEGREES AWAY
FROM THE EDGE.

THE INSTALLED PRODUCT IS NOT PART OF THIS INSTALLATION CERTIFICATION. THAT
RESPONSIBILITY SHALL BE THAT OF THE MANUFACTURER &/OR INSTALLER. Q%L\;ZREED ggUQgC?ORDgEngAgJAg&T%E!Rsﬁggggﬁigi A{{Af*igﬁ%g(s)
IMPOSED ON THEM UNDER THE GUIDELINES OF THIS DOCUMENT.
ANY SUBSTRATES OR CONDITIONS QUTSIDE OF WHAT IS SHOWN
HERE—IN SHALL BE SUBJECT TO JOB SPECIFIC ENGINEER'S
REVIEW & CERTIFICATION.
CONDITIONS SHOWN ON THIS DRAWING ARE
: GOVERNED BY INSTALLATION REQUIREMENTS
FRAME ANCHOR REQUIREMENTS TABLE ONLY. THE GOVERNING CONDITIONS ON ANY
OPENING TYPE FRAME/CLIP TO OPENING MiNmum] minmum | | SPECIFIC DOOR SHALL BE THE LESSER OF
(SUBSTRATE) FASTENER TYPE EMBED |EDGE DIST.| | THOSE SPECIFIED IN THE DOORS STATE
FRAME /SILL SCREWS APPROVAL OR THAT SHOWN IN THESE
(3) MIN. 2X6 WOOD FRAME OR BUCK . . DRAWINGS.
MIN. 18 GA. 33 KSI METAL STUD NO. 10 GR. 5 SELF TAP/DRILL SCREW| FULL 1/2"
" MIN. 1/8" THK A36 STEEL NO. 10 GR. 5 SELF TAP/DRILL SCREW| FULL 1/2"
MIN. 1/8" THK 6063~T5 ALUM. NO. 10 GR. 5 SELF TAP/DRILL SCREW| FULL 1/2" INSTALLATION NOTE:
(2) MIN. C-90 CMU (1) 1/4" CONCRETE SCREW 11/4" 2" WHEN NECESSARY, INSTALLATION
MIN. 2500 PSI CONCRETE (1} 1/4" CONCRETE SCREW 1 1/2" 2" METHODS MAY BE MIXED WIiTH
HINGE SCREWS ANY ONE DOOR SUCH THAT
(3) MIN. 2X6 WOOD FRAME OR BUCK . . INDIVIDUAL SI F TH R
(MIN. GR. 3 & G=0.55) NO. 12 SMS OR WOOD SCREW |1 1/4" | 3/ MADY BgE LOEISESROTHE nggg
MIN. 18 CA. 33 KSI METAL STUD NO. 12 GR. § SELF TAP/DR“.L SCREW | FULL 1/2: ANCHOR METHOD (EXAMPLE LEFT
MIN. 1/8" THK A36 STEEL NO. 12 GR. 5 SELF TAP/DRILL SCREW| FULL 1/2 SIDE MAY USE CLIP METHOD
MIN. 1/8" THK 6063-T5 ALUM. NO. 12 GR. 5 SELF TAP/DRILL SCREW| FULL 1/2" WHILE OTHER SIDES USE FRAME
MIN. C—90 CMU OR 2500 PSI CONCRETE| - (1) 1/4" CONCRETE SCREW - 11/4 2" SCREWS) :
STRIKE SCREWS
() MIN. (ﬁg_ Hoon. F;"“éio?gs)BUCK NO. 8 SMS OR WOOD SCREW |1 1/4" | 3/4"
I MIN. 18 GA. 33 KSI METAL STUD NO. 8 GR. 5 SELF TAP/DRILL SCREW | FULL 1/2"
MIN. 1/8" THK A36 STEEL NO. 8 GR. 5 SELF TAP/DRILL SCREW | FULL 1/2"
MIN. 1/8" THK 6063-T5 ALUM. NO. B GR. 5 SELF TAP/DRILL SCREW | FULL 1/2"
i () MIN. C-90 CMU (1) 3/16” CONCRETE SCREW 1 1/4" 2"
i MIN. 2500 PSI CONCRETE {1) 3/16” CONCRETE SCREW 1 1/2" 2"
INSTALLATION CLIP SCREWS
MIN. (zMﬁz' WG%(_)D;;M&O?ES)BUCK NO. 8 SMS SCREW 13/8"| 3/4" —
MIN. 18 GA. 33 KSI METAL STUD NO. 8 GR. 5 SELF TAP/DRILL SCREW | FULL 1/2" _LEDGE DISTANCE MAY BE
MIN. 1/8" THK A36 STEEL NO. 8 GR. 5 SELF TAP/DRILL SCREW | FULL 1/2" "
MIN. 1/8" THK 6063—~T5 ALUM. NO. 8 GR. 5 SELF TAP/DRILL SCREW | FULL 1/2" ggﬁ‘é\%@s%gxﬁo l§5

INSTALLATION CLIP CONDITION APPLIES.

CHECKED BY:
WWw.S. W.W.S,
FLOT: DATE:
1=24 06/08/21
|
<
o
S
Z
o
E
&
153
"
w
o
lz
Q
1]
o
«©
o
P
35—
gu?]o
hals)
o~
EXNO
E=3—
g
gzi‘c\.
o< ~ O
55 |
.—“—
moa @
o

AWING

** PELLA ARCHITECT OUT—SWING IMPACT ALUMINUM CLAD

WOOD DOOR INSTALLATION REQUIREMENTS

JOB INFORMATION:

75" MAX. FRAME WIDTH [ANBYOR INSTALLATION OF ANY Lﬁi}@%&f&s NOR MAY
THEY BE USED FOR RATIONAL AND/OR LOCAL APPROV,
STRIKE SCREWS INTO SUBSTRATE (3 OF ANY PRODUCT NOT PRODUCED BY THE ANUFACTURER
PER STRIKE PLATE). SEE "FRAME
ANCHOR REQUIREMENTS TABLE” ON
THIS SHEET FOR SCREW
REQUIREMENTS (HEAD & SILL)
6" MAX. —] }— 7}‘6» 6»;}4 @ —~ 6" MAX
'r'-—v——"—— . 4 V“”“"’““"‘—?““"‘; ‘
\/ﬂﬂ% N / 6" MAX.
! i Al .
i / I Nz Tt
t | STRIKE I FRAME SCREWS OR INSTALLATION
| / | |\ opposte CLIPS WHERE SHOWN. SEE "FRAME
N | Jo ANCHOR REQUIREMENTS TABLE” ON
1 / | -\ &I {[[T THIS SHEET FOR REQUIREMENTS
1] | | (CLIPS ARE NOT APPLICABLE AT SILL).
&= b I ACTIVE] d  ~HINGE SCREW INTO SUBSTRATE (1
& | / I | / PER HINGE). SEE "FRAME ANCHOR
H ‘ l |/ REQUIREMENTS TABLE" ON THIS
W “\ / | | SHEET FOR SCREW REQUIREMENTS.
= F HINGE
s : | _—NAIL FIN AND ANCHORING OF NAIL
. I It V/—FfN IS OPTIONAL & SHALL NOT ACT
% | | | AS A SUBSTITUTE FOR THE FRAME
= ] l K ANCHORS SPECIFIED. FIN MAY BE
~ | | REMOVED WHEN REQUIRED BY
> l \ | y. | OPENING CONDITIONS
[0)]
'H ‘ﬁ :%* L'{ 16" MAX. O.C.
SIDES
P STRIKE I / 1 f
| PLATE | y/ |
4 O 1 71l
: Nl i
l = = | 6 MAX.
&#W i
SILL SCREWS WHERE SHOWN. SEE
EXTERIOR ELEVATION; "FRAME ANCHOR REQUIREMENTS
DOUBLE RECTANGULAR DOOR TABLE" ON THIS SHEET FOR
ALLOWABLE DESIGN
PRESSURE @m‘“f',"“”""’:@*:;%%
(DOUBLE SWING DOORS) = g @I
o B s": tu b "as{ﬁ*“‘
MAX. | ALLOWABLE PRESSURE ST VMY gy
FRAME AT HE SO
HEIGHT | POSITIVE | NEGATIVE R 1028, B
(IN.) (PSF) (PSF) " 2 T Wi
119 1/2 50 50 3ie
95 1/2 70 70 iy

~
2
o
I
O'—
z!
m o
[TV I §
wo £m
Z2 g ¢
o . z':.'n?
Gl Egs
& oun
w~—o2.L
g Z38
WS 3y
<0 -2z
I oiad
O ¢y Py
mz I\é
(7
=5 *
A3
252
8 ©O
uj
o
>
o
ws
we
Y
| S
‘»'.
zh.\\
Z ,
g
=
DRAWING NO. REV.

17307

SHEET NO.

1

OF

4




[~ REQUIREMENTS

l/
e
“«/
' SILL SCREWS WHERE SHOWN. SEE

"FRAME ANCHOR REQUIREMENTS
TABLE" ON SHEET 1 FOR

1

¢/
SILL SCREWS WHERE SHOWN. SEE

"FRAME ANCHOR REQUIREMENTS
TABLE” ON SHEET 1 FOR

7480 150TH COURT NORTH
PHONE: 561-744~3424

. = = DRAWN BY: |CHECKED BY: ||
LW.S. W.S.
STRIKE SCREW INTO SUBSTRATE (1 PER T e H
STRIKE PLATE). SEE "FRAME ANCHOR . 4
REQUIREMENTS TABLE” ON SHEET 1 FOR I
SCREW REQUIREMENTS (HEAD & SILL) 5
37 7/8" MAX. 37 7/8" MAX. .
FRAME WIDTH FRAME WIDTH B |
6" MAX. — l* AY 6" uax. 6" MAX. — }“ *—| —— 6" MAX Iz
r V_'"_'_"‘_T'—"l * %—_T“—"""—_Y_—![ * g
\Lﬁ 7T 1|, 6 wax. | /Tl 6" e 8
¥ z
INV2RLEAR 1, L) T I
74 -] 74 ~H @
H FRAME SCREWS OR INSTALLATION { FRAME SCREWS OR INSTALLATION 5
1 CLIPS WHERE SHOWN. SEE "FRAME ; CLIPS WHERE SHOWN. SEE "FRAME ,
/\FI O?@E ANCHOR REQUIREMENTS TABLE” ON N OP/POS\”E ANCHOR REQUIREMENTS TABLE” ON g |
Nl C E E
o \ & [[~ SHEET 1 FOR REQUIREMENTS (CLIPS e S T[T SHEET 1 FOR REQUIREMENTS (CLIPS
T ARE NOT APPLICABLE AT SILL). ARE NOT APPLICABLE AT SILL).

ol | | FIXED | z,
= b 4 ~HINGE SCREW INTO SUBSTRATE (1 = b d P29
5 il \ | ||l / PER HINGE). SEE "FRAME ANCHOR & | | —OPTIONAL NAIL s | 289
Y 1l |/ REQUIREMENTS TABLE" ON SHEET 1 e | v FIN (REF) 2| 9557
w I |/ FOR SCREW REQUIREMENTS. o 3 | Bz=5
= 2 ’> ‘4 = OC=<
& }’1 NAIL FIN AND ANCHORING OF NAIL & S | sa33

) Hi FIN IS OPTIONAL & SHALL NOT ACT . I | s moa«©

% il AS A SUBSTITUTE FOR THE FRAME % | | Sul. &
= P Li ANCHORS SPECIFIED. FIN MAY BE = p 4 <E§
2 I - - REMOVED WHEN REQUIRED BY . l ’ - Gf
> I I y. | OPENING CONDITIONS > | | 2§ &
' o z
i @ =Sl
= S 1 = N 1 =38
o LW

! lﬁ“ / | 16" MAx. o.C. ! ; 16" MAX. O.C. z

Hil / T (SIDES) | (SIDES) =z

d 0 ’P i L5

l / 2 i
o

L ARl STRIKE SCREW (1 PER JAMB | Al =

I ! | LOCK STRKE). SEE "FRAME ' L g2

B d ANCHOR REQUIREMENTS b d E

6" MAX . 6" MAX. T

L | - TABLE" ON SHEET 1 FOR 1 | iYs

<O
38
b=

: REQUIREMENTS. .
EXTERIOR ELEVATION:

DOOR

SINGLE RECTANGULAR
SCALE: 1/2" = 1'-0"

PRESSURE

ALLOWABLE DESIGN

(SINGLE SWING DOORS)

MAX. | ALLOWABLE PRESSURE
FRAME
HEIGHT | POSITIVE | NEGATIVE
(IN.) (PSF) (PSF)
119 1/2 50 50
95 1/2 70 70

REQUIREMENTS.
EXTERIOR ELEVATION

SCALE: 1/2"=1"-0"

SINGLE FIXED PANEL

ALLOWABLE DESIGN

PRESSURE
(FIXED PANEL DOOR)

AKX | ALLOWABLE PRESSURE
FRAME

HEIGHT | POSITIVE | NEGATIVE
(IN.) (PSF) (PSF)

119 1/2 50 50

95 1/2 70 70

CONSULTANTS

W. W. SCHAEFER ENGINEERING &
CONSULTING, P.A. (REG. NO. F—14980)

PALM BEACH GARDENS, FL 33418

Jyw§ 8 1

_ SCHAEFER, P.E.
‘& NO. 113497

DRAWING NO.

17307

SHEET NO.

2

of 4




FRAME SCREW PER ELEVATION _ ¢ \ocrpatr By OTHERS FRAME SCREW PER ELEVATION SUBSTRATE BY 3/8" MAX. SHIM _ e WO ORAWN BY. [CHECKED B
(SCREW HEAD MAY BE PER "FRAME ANCHOR (SCREW HEAD MAY BE OTHERS PER AT EACH ANCHOR " [ esonrn
PER ELEVATION AGAINST THE JAMB) AGAINST THE JAMB) ‘ REQUIREMENTS  SUBSTRATE BY —=—3 Iu
et 7 * 10, [y e BT 7 )y TABLE QFR,EMES A,ECHOR,‘:-:- e | SEAL SPACE WITH LOW °
. " : e XPANSION FOAM AROUND
3/8" MAX. 3/8" MAX. REQUIREMENTS " - "s
Lo At = LM AT TABLE PERIMETER OF DOOR FRAME
EACH ANCHOR EACH ANCHOR s L z
S FRAME SCREW— £
SEALANT — : SEALANT PER ELEVATION .3 \ = i
BY : BY (SCREW HEAD ... . ;" z
OTHERS OTHERS - MAY BE g 2
ﬂ ﬂ POSITIONED AT "+ % o m} g
THE STOP OR u- <10 ~
i C i G AGANST THE ... g
= SEAL SPACE WITH LOW . : . JAMB) ey J
EXPANSION FOAM NGE SCREW _/ T 5 _
AROUND PERIMETER S |
, =@ o
i OF DOOR FRAME | NAIL EIN IS NOT PER ELEVATION EXTERIOR X 5;‘-‘588
OU)LOT
EXTERIOR EXTERIOR SHOWN BUT MAY BE i -
| . USED IN ADDITION SEALANT BY OTHERS o 8§j %
- TO ANCHORS SECTION . /& 2| sa3s
: SPECIFIED. SCALE: 1/2 FULL \3/ s | @2
Fowes } . £ D e
l —-»I FRAME SCREW MOUNT SHOWN. SEE :gg £y
- e - £ DETAILS ON SHEET 4 FOR DIRECT Gz
b= =
&) o MOUNT & CLIP MOUNT DETAILS. oIz
Ll (¥R ] < hre
T T ] o xjz
] Ll =ZDla
3 = y o
= & 3/8" MAX. SHM __| T 1
B = o AT EACH ANCHOR FRAME WIDTH sol 3
I: - (? ol g
g / SUBSTRATE BY —— e o
OTHERS PER ... Z !
: "FRAME ANCHOR. -~ | ——— SEAL SPACE WITH LOW Og g =
REQUIREMENTS . * EXPANSION FOAM AROUND Sn Ho n,
" PERIMETER OF DOOR FRAME WwZl ZZ g 3
TABLE ) [ O . 2Zi»
28| xZ8s!
FRAME SCREW—== b 238
PER ELEVATION -3 o 39| U5 254
(SCREW HEAD .. mol & ;882
MAY BE ; zzmﬁ L |, PZ "3
, POSITIONED AT =~ : E |E=5 ¢
THE STOP OR 4 5.7
SEALANT SEALANT AGAINST THE . 2ZZ
BY BY JAMB) . ) T 5 8
OTHERS OTHERS _/ e A ~
b e STRIKE SCREW—_ |- . X
; T S R PER ELEVATION :-. : EXTERIOR }~ o
STRIKE SCREWS 1/4" MAX. ] 1/4" MAX. | ’ : ; | 5
SHIM OR GROUT  SUBSTRATE BY OTHERS SHIM OR GROUT T -
PER ELEVATION PER "FRAME ANCHOR \ SEALANT BY OTHERS 52
SUBSTRATE BY OTHERS FRAME/SILL SCREW REQUIREMENTS TABLE” FRAME/SILL SCREW y
PER "FRAME ANCHOR PER ELEVATION PER ELEVATION > SECTION ISo
REQUIREMENTS TABLE"™  SECTION /A | SECTION B SCALE: 1/2 FULL \3/ “E N
SCALE: 1/2 FuLL \3/ SCALE: 1/2 FULL \3/ : FRAME SCREW MOUNT SHOWN. SE -
FRAME SCREW MOUNT SHOWN. SEE DETAILS ON FRAME SCREW MOUNT SHOWN. SEE DETAILS ON DETAILS ON SHEET 4 FOR DIRECT  NO.[REV.
SHEET 4 FOR DIRECT MOUNT & CLIP MOUNT DETAILS. SHEET 4 FOR DIRECT MOUNT & CLIP MOUNT DETAILS. MOUNT & CLIP MOUNT DETAILS.
——d




o - TlorRawN gv: THECKED BY: ||
1 ) W.WS. W.W.S.
3/8" MAX. SHIM FRAME. WIDTH S B oo INSTALLATION CLIP SCREW PER "FRAME TS
AT EACH ANCHOR REQUIREMENTS TABLE” ANCHOR REQUIREMENTS TABLE” (2 PER = e
CLIP ANGLED 15 TO 20 DEGREES IF A 1.1
gggg;gALEERBY-ﬁ—? STRIKE/HINGE SCREWS PER NECESSARY TO MEET EDGE DISTANCE 1z
"ERAME. ANCHOR. - - ,‘ | SEAL SPACE WITH LOW ELEVATIONS ™\ . REQUIREMENTS) —7 |
REQUIREMENTS - % g 'f EXPANSION FOAM AROUND ’ i S ST Sy A &
TABLE” g PERIMETER OF DOOR FRAME
T iz
NLLLLT7 3/8" MAX. 15
['4
FRAME SCREW—2——\ SHIM- AT CLIP g
PER ELEVATION <% o °
(SCREW HEAD SEALANT BY : f S
MAY BE BE OTHERS g
POSITIONED AT =~ I
THE STOP OR S
AGAINST THE INSTALLATION
JAMB) ) cup
NO. 8 X 3/4 z
oo~
S (2 PER SEAL SPACE WITH 2858
LOW EXPANSION g 0587
__EXTERIOR FOAM AROUND o 2
SEALANT BY OTHERS PERIMETER OF ° | 8238
DOOR FRAME b =51
SECTION 1\ \/ 2 | 3253
SCALE: 1/2 FULL \ 4/ INSTALLATION CLIP DETAIL gﬂ a
-
FRAME SCREW MOUNT SHOWN. SEE CLIP_INSTALL NOTES: <z
DETAILS ON THIS SHEET FOR DIRECT 1) HEAD SECTION SHOWN. CLIP IS INSTALLED THE SAME AT THE SIDES. I5=
MOUNT & CLIP MOUNT DETAILS. 2) INSTALLATION CLIP IS NOT APPLICABLE AT THE SILL. &'&J
3) FOR DETAIL NOT SHOWN, SEE OTHER SECTIONS. =3
2 &
| NAIL FIN IS NOT 53| 42
CONTINUOUS WOOD MEMBER LESS SHOWN BUT MAY BE Rl o
IN THICKNESS THAN A 2X_(BUCK USED IN ADDITION o3 £l
TO BE MIN. 4 1/2" DEEP (NOT I
REQUIRED WHEN SHIM SPACE IS SUBSTRATE BY OTHERS TO ANCHORS ool Hgz?,
WITHIN ALLOWABLE DIMENSIONS PER "FRAME ANCHOR SPECIFIED. E_l 2., 2%
SHOWN IN SECTIONS). REQUIREMENTS TABLE 1| 20 esi
Q| «E8g!
| <ol L =35
6.187 TO 8.187 <ol 5<5on
20 <o 2oY
[n)e; 05‘%
(o] o] (o] o] (;\ o= 8(5 §§ &
SEALANT BY ‘ L |23
OTHERS - : : : : : : Exh
o O o o o 1.87 =5
, O D | e 5=
EXTERIOR o o o o o ) g 8
STRIKE /HINGE SCREWS { u
PER ELEVATION & FRAME SCREW PER i
"FRAME ANCHOR | ELEVATION & "FRAME 2 BENT PORTION OF CLIP MAY BE SNIPPED OFF . o
REQUIREMENTS TABLE” ANCHOR REQUIREMENTS IF A NAIL FIN IS TO BE APPLIED TO THE DOORS |5
TABLE" =
A, (1) ERAME_INSTALIATION CLIP aoll
(50 KSI STEEL) :

OPTIONAL DIRECT MOUNT DETAIL
TO SUBSTRATE WITH SPACER
(HEAD SECTION SHOWN; SILL & SIDES ARE INSTALLED THE SAME)
(FOR DETAIL NOT SHOWN, SEE OTHER SECTIONS)

SHEET NO.

4 o 4




